ELECTRIC MOTOR DRIVEN TRANSFER PUMPS

Division of ASM Industries, Inc.

ELECTRIC MOTOR TRANSFER PUMP REPLACEMENT PARTS

ITEM QTY PART# DESCRIPTION PUMP MODEL
4 10 | P-58-0721 Nut, Body, Plated Steel, 1/4’-20 hex ALL
10 | P-58-072110 Nut, Body, Stainless Steel, 1/4"-20 hex ALL
6 1 P-58-0703 30B Bracket, Polyester, Black ALL
7 1 P-58-0719 72 0-Ring, Body, EPDM ALL
8 5 P-58-0717 72 O-Ring, Screw, EPDM ALL
9 4 P-58-0728 10 Screw, Bracket, Stainless Steel for pumps close-coupled to ALL
electric motors, 5/16”-18 x 1.5”
10 1 P-58-0754 72 O-Ring, Segment, EPDM ALL
" 1 P-58-0976 72 O-Ring, Shaft Seal, EPDM ALL
12 4 P-58-0750 90 Plug, Bracket Screw Protector, Polypropylene ALL
13,14 1 P-58-0714 12 Seal, Shaft, EPDM, 316 S.S., carbon/ceramic ALL
1 P-58-0714 14 Seal, Shaft, VITON, 316 S.S., carbon/ceramic ALL
15 1 P-58-0704 30 Impeller, 3 Vane, .535” wide 5.5” dia., Polyester, black PACEL112-.75H1 (SE11/2AL G.75C)
PACEL2-5H1 (SE2FL C5.0C)
PACEL2-5H3 (SE2FL D5.0C)
1 P-58-0706 30 Impeller, 5 Vane, .535” wide 5.5” dia., Polyester, black PACEL112-1.5H1 (SE11/2CL G1.5C)
1 P-58-0667 30 Impeller, 3 Vane, .535" wide 4.75” dia., Polyester, black PACEL2-2H1 (SE2EL C2.0C)
1 P-58-0974 30 Impeller, 4 Vane, .600” wide 4.75” dia., Polyester, black PACEL2-3H1 (SE2HL C3.0C)
1 P-58-0975 30 Impeller, 4 Vane, .975" wide 4.75” dia., Polyester, black PACEL3-5H1 (SE3LL C5.0C)
PACEL3-5H3 (SE3LL D5.0C)
16 1 P-58-0716 10 Screw, Impeller, S.S., 5/16™-24x.75" ALL
17 1 P-58-0702 30 Volute, Flat, Polyester PACEL112-.75H1 (SE11/2AL G.75C)
PACEL112-1.5H1 (SE11/2CL G1.5C)
PACEL2-5H1 (SE2FL C5.0C)
PACEL2-5H3 (SE2FL D5.0C)
1 P-58-0954 30 Volute, Flat, Polyester PACEL2-2H1 (SE2EL C2.0C)
PACEL2-3H1 (SE2HL C3.0C)
1 P-58-0977 30 Volute, Flat, Polyester PACEL3-5H1 (SE3LL C5.0C)
PACEL3-5H3 (SE3LL D5.0C)
18 2 P-58-0725 10 Screw, Side Volute, S.S., #6-cc x .5 long ALL
19 1 P-58-0771 10 Screw, Top Volute, S.S., #10-24x1.5" PACEL112-.75H1 (SE11/2AL G.75C)
PACEL112-1.5H1 (SE11/2CL G1.5C)
PACEL2-5H1 (SE2FL C5.0C)
PACEL2-5H3 (SE2FL D5.0C)
20 P-58-0997 10 Screw, Top Volute, S.S., #10-24x.5" PACEL2-2H1 (SE2EL C2.0C)
PACEL2-3H1 (SE2HL C3.0C)
PACEL3-5H1 (SE3LL C5.0C)
PACEL3-5H3 (SE3LL D5.0C)
21 10 | P-58-0720 10 Screw, Body, S.S., 1/4"-20 x 2-3/8 long ALL
22 1 P-58-1009 72 O-Ring, Drain Plug, EPDM ALL
23 1 P-58-0723 30 Plug, Drain, Polyester, black ALL
24 1 P-58-0722 30B Plug, Filler, Polyester, black ALL
25 1 P-58-0765 72 O-Ring, Filler Plug, EPDM ALL
27 1 P-58-0718 10 Key, Stainless Steel ALL
30 - P-58-0778 11 Shim, .006”, Stainless Steel ALL
- P-58-0778 12 Shim, .015”, Stainless Steel ALL
- P-58-0778 13 Shim, .030”, Stainless Steel ALL
42 1 P-58-1001 30B Body, 1-1/2" NPT, Polyester, Black PACEL112-.75H1 (SE11/2AL G.75C)
PACEL112-1.5H1 (SE11/2CL G1.5C)
1 P-58-1002 30B Body, 2" NPT, Polyester, Black PACEL2-2H1 (SE2EL C2.0C)
PACEL2-3H1 (SE2HL C3.0C)
PACEL2-5H1 (SE2FL C5.0C)
PACEL2-5H3 (SE2FL D5.0C)
1 P-58-0755 30B Body, 3" NPT, Polyester, Black PACEL3-5H1 (SE3LL C5.0C)
PACEL3-5H3 (SE3LL D5.0C)

Grimes, IA §00-391-1987 < Gardner kS §77-829-8502

e Brimfield, IL §55-778-8500

SdiNmd 834SNVvHLE33avd



